[THF 4]
I == =i A 5 =

oo N R WA GE) | & %’EH

[EREIE 5

PR EBE TE (T-1) — %
(hz TEE ]

St A A Rt —
[l L5t

BGE A — 5
(@ D

— i P %
[TH#RH
[ itk et

THE R O 5 1 e Bl D% — K
(558 ARgEat]




S i H AN — 4

[THFH4]
=
[FEXH4]
T # KX 4 - L # 1
T IESHRAGEBAE LE (7-1)
R4
AR T
ar s J— MEL % 1 5RHNRDOLEBY
FIFEBG LT % 2 FRNIROLBY
EJLE % 3 TRNIRDLBY
T A T B ABRNROLEY
AR T L 5ERNIRDEEY
G an
%L % 6 T RNIRD LB
A T L TEERNRO LB
R4
BB T
R (F57) L 8 HFRNRDEEY

T H 25

B

THJ5EE

— i A A

TH#&E

T Mk

HE B O |7 1 B O




S i H AN — 4

[TH4]

I == owse R &F=
(X4 ]
T #H KX 45 - L f# - fE jl NE (&) & # fii

[ENERES L




Fhf B —4 D 2

[TF4] ISR CEREMHE TE (7-1)

#0015 = BU Py 8BRS
BEopl-M BN R P72 NI M @ ® | Bz H il & # i L)
oy ) — MEEL
av 7 ) — ML
W fRIE T (BT Tk | V=0.085m3 [ Jv-t}
) Y NEVAV19. Tke]
1 =
OOENAET (FFH | L=33.4m [k 3vEHIS
Tik) % 5.01kg]
1 =
R IE SEERE R 3B S, Skm
LUF
0.1 |m3
ERREM A o
7V — M ()
0.1 |m3
=S| By T N 1-001




FEhi B —4 D 2

[TF4] ISR CEREMHE TE (7-1)

% 2%5 = BU Py 8BRS

FEOBI-M B-PN ER I N TS # ® | Bz H il & #H i L)
HIFBAIE T

HIVERS IE T

FIEGIET (— % | A=0.5m2 tA/T9JARB:

) A2 TiE FHY

1 =
=S| By T N 1-002




FEhi B —4 D 2

[TF4] ISR CEREMHE TE (7-1)

# 3% = BU Py 8BRS
FEB- 4 Bl-N R PR N M ¥ B | HfA H il 4 A T L
R T
FEHE T
R T a))-MEET CC-B
30.1 | nt
=S| By T N 1-003




FEhi B —4 D 2

[TF4] ISR CEREMHE TE (7-1)

% 4 = T =1 P~ SN PEES

FEB- 4 Bl-N R PR N M ¥ B | HfA H il 4 A T i
TH A E T

T AR E T

MaT — 7 %iE L A=0.96m2 AR,

K- Bigy-h
1 =
=S| By T N 1-004



Fhf B —4 D 2

[TF4] ISR CEREMHE TE (7-1)

% 5 & FeE =1 P~ SN PEES
FiOop-fm B - i N B # & | Bf7 H il & #H it £
BB L
BEERE T
Re-II (iEAE) BT R B A £
FHFREE RV
92.1 |nf
Re-11 () BT R B A £
FHFREE RV
28.7 | nf
Bt M7 (- iR
it T ‘
1 =
=S| By T N 1-005



Fhf B —4 D 2

[TF4] ISR CEREMHE TE (7-1)

% 6 7= T B PN BN =
BEopl-M BN R P72 NI M @ ® | Bz H il & @m i L
BT
Wit J& 35

Wik 2 35 TYPE-G

191.6 | #Hnd

FEHEA LB BEIY 90~ 119cm

2 i
BT (P - @A | B 608 _E90cmAi;
) 12. 4km

2 i
RERAA WLy

1 i
AT T XU A REH=

2.5m
1 i

=S| By T N 1-006




FEhi B —4 D 2

[TF4] ISR CEREMHE TE (7-1)

% 75 FeE =1 P~ SN PEES
FiLopl-M Bl GR i N B ¥ & | Bf7 H il & #H i £
ARIEE BT
I B
AIET RS B ZIEFE S B B
56 AH
=S| By T N 1-007




FEhi B —4 D 2

[TF4] ISR CEREMHE TE (7-1)

% 8 & = 5B PN B &

(IRt I O B [ N -~ ¥ & | Hfz] H it 4 @m fii =
Homfx® (557)

Laafx s (R57)

1.o| &

| By I N 1-008




